SJYU=2=wv I

HREAE JU-2AA20/ TEITV-AZy TIEECEBLSTTGERLETD.
EHEAF 1 OMPallTE#ELET,

R(PT)XIRUNPTRY G(PF) RIRUX—=NILRY

B4 mm

AR
|

B % +2D 5
GNA1J R1/8 10
GNA2J R1/4 14

_GNA3J | R3/8 0 | 2 _ 17
GNATNPT NPT1/8 100 20 9 10
GNAZNPT NPT1/4 100 25 12 14

B&Y &>

s
| H
BES
JB X Cr—
- A 5 &

i % #TD B T s P
GNB1J R1/8 100 215 8 10
GNB2J R1/4 100 25 11 14
GNB3J R3/8 50 27 12 17
GNB4J R1/2 10 33 15 22
GNB1INPT NPT1/8 100 215 8 10

ca

iR 8’ FTD BRE

GNC1J R1/8 10
GNC2J R1/4 100 25 i1 14
GNC3J R3/8 50 27 12 17
GNC4J R1/2 10 33 15 22

WHE HiA#C3604 - EEEESW-C- (§3kSWCHIOR MEBEMLE —virLivi

AR
- A
" & i %ﬁt H s | BxC
GNASMOBK | M5X 0.8 100 | 135 | 45 | 7
GNAGMT75K M6 % 0.75 100 13.5 5 7
GNABM10K M6 % 1.0 100 13.5 5 7
GNAGM10K-H8 | M6 < 1.0 100 14.7 5.3 8
GNABM10K M8x1.0 100 15.5 5.5 10
GNABM12K M8 x 1.25 100 15.5 55 10
GNATOM10K M10x 1.0 100 20 9 10
GNA12M15K M12x15 100 21 9 14
GNA2-28K Ui/4x28lL| 100 135 5 7
GNATK Gi1/8 100 15.5 6 10
GNAZK G1/4 100 21 9 14
GNA3K G3/8 50 245 10.5 17
ME*0.75 - 1.0 E?"G
B& HE"”*? I Fas
&t AT l
18 I|' 'i' ‘{{__f__ L H
Ells i sl
Ll o BxC-
B &0 Eg H T;'—S“i; BxGC
GNB6M75K M6 % 0.75 100 16.5 5 8
GNB6M10K M6x 1.0 100 16.5 5 8
GNB8M10K M8x1.0 100 16 5.5 10
GNB8M12K M8 x1.25 100 16 5.5 10
GNB10OM10K M10x1.0 100 21.5 8 10
GNB2-28K U1/4x281| 100 16.5 5 8
GNB1K G1/8 100 15.5 9.5 10
GNB2K G1/4 100 20.5 8 14
|

]

ME=0.75-1.0
174 %281 TiE

T

J_H
jzaicd
Beer
B i 22D Eg .
GNCEMT5K M6 X 0.75 100 175 5 8
GNCBEMI10K MG X 1.0 100 175 5 8
GNC8M12K M8 x1.25 100 175 55 10
GNC10M10K M10x1.0 100 21.5 8 10
GNC2-28K Ul/4x28i| 100 175 5 8
GNC1K G1/8 100 17 55 10
GNC2K G1/4 100 215 8 14

30



